1.75

1.75

] £6166 000! 66'265 000!
#5156 Y06
£9155 901 - 9
89166 99
\ £8156 <8¢
or16S e
Aj82.4od 921Dy 66°06S 057
' 05065 —\__| 607 Aj3210d @101y = 07655 197
o158 —\ | 1 n i7ess e
i 81156 % e wsss — 1 961
N i ! 8§ —— St N I 17°655 Sl
Gl ‘ 91165 561 e )
2 % \ 2 % \
N . — \ 1166 000 N— J— \ wees —— 1 000
0L'lSG ) /$°GS " €IS 0@o-
o - ) o % )
— 90158 L e— 10658 st
S0 ) 25°¢ ) 4 .
R : 8675 —__ | 12
— — 00°¢5S 52
€018 957
80155 ps-
8 J \ // (785 wh-
8 74 o eSS ¥y
2 ST - SHess 55'6-
™ 74 S 8900 SO E=—F 69055 295
: Aj@2J0d @d1LDIY = LIS — | 6% - G-
O [ UDJY = 177 Q/188 o'g- O £6°6S 16G
™~
= o
'
[ =
A
I
8 8
'é‘ © %“
10755 —£2 > wo- N 007655 2 > 00°01-
cL0vS 0001 LOWS 000l
78°0vS 124 18146 e
60vS w
8615 9¢
— @1 A1210d 921Dy = 0°2HS e
A2210d 90LDIY = 850re — N 17
: , 1021 —___| €52
£019S 157 - .S :
e 80215 e
95°0vS ——~—— 961 @)
y i 96°0v5 st NE— 60°2%S st
0Ll [ 44 l
2 B ) Y B )
- \l 8670vS 050 ~ \
*eTTe _— | 0015 000 AT _— | wzns 000
. ) o \ ) TvS 660-
~ g ) ~ & \ '| RN
- Pevs Gl
660 ‘ LO0°1KS Q- T l l / SIS _\— 181-
o o]
80155 05z siers we
STvs ol
IWIbS W
(@)
O A120.40d 90IUDIY = LIS 0z°6- 8 Aj22.0d 9JIUDIY = 8¢S 81'G-
O @)
<t 6615 96°5- ~
Q) 616 99 o)
(@) O
= =
e e
I I
TS '6-
[e=] [=]
[@)) rivs 9 65°6- O =]
= ~ ; 92745 —o0 9°6-
LIS —e9) 66~ o~ ]
=" yus \-> 00°01- us > 0001-
W6eS 0001 96865 0001
206¢6 69
64865 w9
00'6€6 €6
10868 89
16966 85
A19210d 9o1UDIY = 08'96S A%
Lses 8¢ A192.0d 821Dy = 98'8¢5 087
G180 G €885 AN
9.°856 9%°¢ =TT 18866 ——— 11T
9 = e
688 l v8'8 |
< 3 | = & \\
1866 900
NI — | 89'806 000 : — 1035 — = 000
78°8¢C \ ‘ ! 6,825 l
\l 16966 660- ‘
= ik & §aRN
16965 6¢1- 99'86S Sl
\ \L l : .. | 98cs —\__| -
TR | £9'966 sl & === AR\ =
O 70855 we \D |
‘\/' 0£8€6 4 ' LL8ES 56T
16866 8It-
A13210d 90101y = \ 986G 98°¢-
62865 851
\ 1956 oLy Aj9240d 20101y = 87868 ——1 cgy-
o \ | N
O o 61965 47
O O
w O
N %
=
66265 661
N =
| ~ VLSS 98-
. \ | |
N 8 15186 -8 w6-
— < <
[5e ﬁ— [50
8y 55 2 > 000i- — 9155 2 > 000
0666 000! 596G 0001
15965 98
86566 ug
86'966 a9
02565 VRS
A192.0d 821UDIY = V0’665 ov'e
\ Aj9910d 901UDIY = 17965 w0
- 00666 997 \
946G 67 : :
\ AN, 7 Wj 16966 9
N S6'46S st N——— 596G ul
G0'S \ [RA] \
N——— R \ Y6465 000 N _——— - \ £69¢S 000
00°G¢€G \ 9¢°996 l\ 696G w7o-
= 8 ‘ 2 8 ‘
o “ 06565 bl - \
N | N 6o — | s
ve'y ‘ 86468 861- 089 —H 88665 9%61-
66°7¢S ere- \/ l_' 00'955 19°2-
W0%S €1z-
Aj9010d 901UDIY = LI6es - /
A19240d 921UDIY = L£95G 95~
) ()
) O
. .. (@) L G99 — | 66%-
3 ] =
@) o~
A .
) ()
= =
6595 crg-
a '
| |
2 2
2 w . A o
™ JLg e L5988 o 50
1585 2 > 000i- 9595 2 > 0o
6°925 0001 56128 0001
1925 29%6
86226 8y
187125 059
Ajp2upd 9o100IY = 96925 95°G
Aj2210d 921UDIY = 18 W
66128 05
0£°926 0¥
16926 05
6+°LCS LT
80'9CS 9'C 167228 (YA
3 . l . 12928 st S j 5228 st
£eg ‘ 96/ \
2 s \ = § |
) 12925 000 \ . )
N B} : ! e . €928 000
L2925 a Lraes ao 0$°225 \
4
/ 12928 w0 \
Y2925 S N i LS 6Ll
£T'9CS 61- Sl l \
L 90426 57
69 we 61225 20
A19240d 921UDIY = 98225 0C'y-
O w6205 155
O WS 895
(@) o
O D)
O o
O .
O 10925 871 O RS TL-
O =
66926 uwe-
= e
X I
o o
S S
! N Q\ 8
— 6r'9zs 2 > 00°01- 75875 2 > 00°01-

£6'455
56455
A13210d 921LUDIY = L6455
16755
NI 56'¥5S
9'g
G ES
N — [0
11'GGS
2 3
o 9L'45S
606
‘ 145G
69155
15'%55
) Kje2.0d 8201y = 945G
O LSS
O /
00 , e
™~
(@)
e
I
™~ g
[@N 5
2
9vges 2
/ 887245 0001
16745 W
Lum“ oy
60°CHS 69°C
A19240d 901Dy = CIEYS ¥0°¢
weYs 052
@]
N 1595 A
A% [
N - 1l qIevs 000
LTCYS )
2 3 | ) \
= | oeYs a1
~e \ Sevs 161-
LYSHS 18-
/ crers — | 25¢-
95°cHG S
89°CHS G6'c-
Aj9210d 901DIY = LSS s
(@)
O
O
(@)
O
()
=
e
| . 1= .
wins 2 656
s vgEvs e 8L'6-
o [ cEeHs ‘5 00°01-

07'965 0001

8es 059

8ss 19§

19966 — | o6¢

A19240d 9910y =/ 085 5L€

96'955 e

- 86805 ———1 817
: 167865 Sl
106 [
By )‘
N —_ | £695C 000
96'8¢6 ~ l
l‘ 76865 150
| 19856 — | 191
g I I 59'8¢G oLl
= vL°8CG 8¥°C-
Aj9010d 901UDIY = 15'86G Gly-
O [ 627G
O
O
(@N]
<t BES 189-
(@)
=
A
: %168 3 ws
<
@) 3
— 06°455 > 00°01-
955 0001
A15210d 9o1UDIY = 6¥°L8S 687
LAY 7S¢
8Y°L56 07'¢
e ( ‘ j SS'LSS 51
" \ 65465 8l
- \ \
~
N — \ 62°L55 000
AR \
@ al\] ||
' \
S . ) vl
Yl \ 78965 8
\J 16965 we
16266 Iy
A19240d 9o1UDIY = 1£°155 69
O
(@)
O
<t
(@N]
O 92155 £9¢-
N
VLSS —o 6
! S
3
@) wiss 2 > 00°01-
\ 87625 0001
11628 V6
62625 0L
80'625 65,
0625 1y
A13210d 821UDIY = L0626 96°C
50’625 057
S 0’625 A
IL'6 \ \
= s H \ 20628 020
N - \ 0625 000
G0'6¢S
2 E
N i €625 Gl
006 628 20T
| |
L1628 99°¢-
v2'625 8¢y
Aj8240d 821UDIY = / 08625 6Ly
/ 86°625 87
(@)
O
O
€@
(@)
(@)

i ety
= ¢
e

o
| Qo
[Te]
)

. o

N 0625 > 00

0001
189
957
0z
A
000
gl
w
e
(54
b
106
88°G-
16
00°01-
1G4¥S 000!
19445 8U'L
19445 0L
¥SYYS 00
A1p240d 221U0IY = 19746 74
9415 W
N ) .
£9H1S uz
O
o573 i 29415 sl
) 19945 9%
W R
™~ o«
= \
N I 1l 9495 000
167G )
un
= #
= )
\ . 4
i | 9HYS Sl
98y = 1S 502
LLYS yee-
/ S0°GHS -
9SHS 95°p-
7615 — = cyp-
A19210d 9o1UDIY = 09°G¥S os-
O
O
O
N
99645 -
w
(@]
N -
=
: g
0L5rs L2 > 0001
QN
N
16855 0001
86°855 g
86'855 8
, 99855 9y
89'855 W
A19940d 9o1UDIY = / 90'6£S (87
| v —— &
r@ 81’686 861
Yo ‘ ‘ i 61'685 9
0 gl ) 07655 880
N I | av6ss 000
¢1'6%S ‘
[fe)
~ Bl
= \
| 4 4
S—— 80655 5Ll
806 o‘
L6665 8eZ-
\ 56856 ¢
Aj2310d o101y = 5985 62'y-
\ 6v'965 6lg-
O
O
O
1@
<
O
> 16185 18-
A
. 8
F 8155 :; 926
e 0°L5S 00°01-
=~
07986 000!
986G 82
(& e
AjpaJod @owW0IYy = 1885 Le
= e
3 )
()
R | i u'8s Al
) 9 51
& =
~ &
= \
N I ll 0°8es 000
60'82S \ , ‘
I\ 60'855 o
W =
0 S
= )
o8 ‘l 9185 sl
J 88'15G -
L6155 97
96155 61
A19240d 921Dy = 06°L5S 9v'b-
O \
S s s
(@) \
™ 09185 179-
(@N
(@)
=
N
| 15155 oy
8
O ]
s [37]
9y 155 £ > 000
05085 0001
£9°05G 06
Aj3210d 9d1UDIY = 65085 1£°G
06°085 oy
9r°085 09
W X
iR ¢
95055 T
Y150 ‘ j\ 29055 A
0 " ‘ ) | y08 990
e — ‘ 905G 000
GL 0SS )
2 S \
000 ; 8L0S 1
' 6055 957
180¢S 19°C-
A192.0d 821Dy = 66°08S W
O
O
O
[@))
O
O
= 9411 c0'g-
e
' S
g
~ 15155 9 > 0001-

cN O ®©
o
3<sgd o | 2 w3
a ol |4 slo|lalgls ™
os8s [3|8|7|8[8|F <
< £ = || 8 T,
5§22 |59 £S5
£ ~O A = "’_
g S 0O
= @
= O
o
° o
=1 B o .
= 2|9 -
£ ‘@ S Al
= o) —
|E|8|5|2|2
Q| = =3 '§ %
8 |&H5 |||
d -
S| < S
RN
2|l =
5|8 2w
g |~ gl =
= 5
2|2 212 5oy
S8 28
S| a
=8| LI
2 B
x g E >8 @
2 o | 3 X § = @
S | 5 o o
g| Ej 8| RE <
o| 2 5| Do
gLt »B N o L
— (=] = ) — Hn
w LIJ > L
) O« =
32 T | ©
- = |8 —= N~ 0 e
g | x 3|1 S| do o
g 2 N 4723 ";‘ < ~
HEINEIEEES
| 3 o | E 2
STV Bl g
g2 |32
N = @ | E
2=
>
@ D
S
. [0
(O
3 - -
3|8 £ 3
2| © | .| 8
e | = 13 S T ©
© = o k73 =
g o | 2|8 2
= £ S| E| = o
69°9%5 0001 96845 000!
00'9%S WL
20645 69'9
9945 ¥y ! .
A — 10645 6y
Aj9210d 901001y = 99995 1€
Aj9240d 821UDIY
19925 197 MO ES \ : .
e ws 95915 157
1 @ 099%5 we
) ) 0'8Y5 981
y 65976 ol N T ) ’
99 ( /8 ) 66846 £91
2 % \ = 8 \
Y —- | 95955 000 R \ 0v'8ys 000
8L9%G ‘) 69'8%S )
o % \ o = )
- . Y59%G AR \
\ . 4
N 95955 Sl g
¢L9 ' . . 798
S Ls9rs we J areis 8
8595 92
05845 8-
Aj9210d 921UDIY = £9'9%S £ey- ‘
74
(@) a
() A192.40d 921UDIY = 0r6¥S 9v'G-
O / 164 oS-
I<e) - /a8 1266 £0'9-
O J &)
. 98°9%S 19'9- O
O N
= «w
K O
[ =
o K [e=]
N < Qe
N <
N < | <3
sovs £ > 0001 1rg L2 > 0001-
<
16866 0004 N 966G 000!
00665 298
09855 a8
| 009886 — | 98¢
51856 VoL 9665 Wi
06965 ——1 gy
866G 159
¥6°66 v
265s o
A19240d 921UDIY = 86665 167 Al2210d 92101y = 5004 S0
PY68S 1we
| .
89°666 N4 . .
8 — 1 ¢ 6004 627
’g‘ L1685 434 Wrayl 60015 961
: 165G [ N— 60°0¥S sul
956 l) 710 ] l) 0% e
= b 2 S
o ‘ LY6ES o o \
N — | 8465 000 _— | 004 000
15685 ! 60075 ‘
w fe}
~ A ) ~ A \
— 056¢5 o =
05656 Sl
5vE : 'l srecg_%\— 991- 50 ‘\ 20045 Sl
S . r oo -
= 15665 661 5] 0045 86
/ 55665 152 6004 -
19665 fre-
50045 866
A13240d 9d1LUDIY = 8L'6£G £9v- Ajp210d o0y = SI0¥S Ly
O
(@) o
O O AT Y-
oo €665 92°9- O S0 —\ | €9
810%5 99
< v
N =
e
| 108G 988
o | o
S Q
N 89855 O > 000i- o8 80015 2 > 000i-
6856 000! 60'65G 000l
00655 159
69°85G 69
99866 gy
o6es — | Iy
56855 02y
. . Aj99.40d 221UDIY = 1686 A
65855 67 \ oy
Ajp0u0d 32101y = feace 1 a7 —
6G°8¢S 8¢'C 99'9¢G 1£°7
5 o 89'8¢¢ 1%
*Tog ‘ ‘ ‘ 65865 O TR i 89'856 sl
© = ‘ ) 65855 %0 o = )\
- —_ ‘l 85955 000 : —_ ‘l 18955 000
1G'8¢G \ ¥8°8¢S )
ﬁ. 3 ) ﬁ ES )
66866 691-
e ‘, - i ‘l 9866 Sl
9%'8 5 75866 S61- 6.8 ‘E
LY'8¢6 ¥e'Z- £9'886 or'z-
\= 85865 85°C-
16866 89°¢-
\ \ e — | 66t
‘ 186G oy- A19210d 9o1U0IY = Uges oI'y-
A192.40d 821UDIY = L1885 Wy \ acs ot
(@)
o O
@) O
@) M)
@) M
N O
O
= e
e | 6155 98-
| . y
16155 -8 96- o~ 8
— & * >
-
0685 2 > 0oL 98155 £ > 000k
07288 0001 025 000
07258 65
Aj92.0d 921UDIY =
A199.0d 8210y = £L°¢8S e
€L¢eS 08¢
s 144
A——m—n HE
T 922 \ \ t 99'¢ ‘\ LEES ¥G1
2 Sl ‘. 20S wo 2 = )
— H ‘ xans 9650 ‘
N _— 12258 000 ot —- L9€5 000
127285 \ ¢oees \
N 09666 oLl
- | B |- .
9 I frees 1 LS¢ I 96°¢65 02
JIRASS S LGEES gwe
RAYS $0E-
86766 9¢°c-
A192.0d 9d1UDIY = 19668 L9¢-
A19240d 921UDIY = 19728S 6l'p-
$L6ES 94
£r28S 90
O
- @) A A
@) ) £9ees e
O 19
N A
o
. O
O
= =
e
6675 - | 16656 183
| 3 S
o 2]
N W e .
Q) 10geg 2 > 00°01- s 2 > 00°01-




